
g : Ĉ ! D → Ĉ ! {0} g(∞) = ∞

lim
z→∞

g(z)
z

= 1 ( lim
z→∞

g1(z) = 0)

g(z) = z + c0 + g1(z)

p q if p > 1
2 > q then

Prob(Xn < 0 and limn→∞ Xn = +∞) > 0

Lemma (Primitive Vitali Lemma). U ⊂ C bounded open,
E ⊂ U measurable. If for any x ∈ E there exists a dyadic
square Q % x contained in U such that densityQ(E) < λ,
then

densityX(E) < λ.

Q fn fn(Q) p > q

p = P (n-th step = +1| itinerary up to n−1) > q = P (n-th step = −1| itinerary up to n−1)

P (n-th step = +1| itinerary up to n − 1) >
1
2

2


